> A
A & 0l & AF 2 E A A
AR BHANNRZ SN BRI
M HIISNHE=SHAAS
Selr HOIS22AX XMl AEEXR (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
I M= 790,712,364 692,842,577 97,869,787
= 491,719,276
Xl 155,709,000
J| 3,245,000
< 140,039,088
CEREh 100,652, 145 68,754,362 31,897,783
= 63,401,200
Xl 8,690,000
< 28,560,945
HOISHJ=SHATRS 59,169,750 41,254,100 17,915,650
2 46,809,000
= 12,360,750
HolS22lR el ALEX 59,169,750 41,254,100 17,915,650
= 46,809,000
= 12,360,750
METH S HEHES 1,904,000 1,350,000 554,000
= 1,120,000
< 784,000
403 MHXISHHE X201 & 1,904,000 1,350,000 554,000
= 1,120,000
< 784,000
01 X SN2 2= 1,904,000 1,350,000 554,000
JMeTtds dEHES 1,904,000
= 1,120,000
< 784,000
HEAIEEHI A 352,000 660,000 308,000
= 207,000
< 145,000
403 A X EHHS 20l A 352,000 660,000 308,000
= 207,000
< 145,000
01 X EHHMA=LE L 352,000 660,000 308,000
CIOHE AIE EHHIALS 352,000
= 207,000
< 145,000
IS H X2 HH0l 2 It A Al A 11,898,000 4,003,000 7,895,000
= 11,898,000
403 XSS =0l & 11,898,000 4,003,000 7,895,000
= 11,898,000
01 X SHMA=2E X 11,898,000 4,003,000 7,895,000
OSII S HXH2H0I It ASHAIE & X 11,898,000
= 11,898,000
NHALHIISE ™Ml A& X AL 2,757,000 3,063,000 A 306,000
= 2,757,000
403 MtXISHHE X201 E 2,757,000 3,063,000 A 306,000




A= = = = &
3 HIISNJ=SAHAHPRS
e HoIS2elL el AL AR (&2 &)
AR RA BB OBH) - MBEAY - BAS O Ak o8 ﬁlf& HD=2
= 2,757,000
01 MXHHMAEE = 2,757,000 3,063,000 A 306,000
OJI9HHIISE NS Al & X ALY 2,757,000
= 2,757,000
DEHAS NS EE L EXALY 1,937,000 2,153,000 AN 216,000
= 1,937,000
403 XX S M S K201 A 1,937,000 2,153,000 N 216,000
= 1,937,000
01 XIS A2 X 1,937,000 2,153,000 A 216,000
ONsdzNESdS8E2dHEINAMS 1,937,000
= 1,937,000
AsHUESSdEESAE 845,750 823,650 22,100
= 497,500
= 348,250
403 XX S S K201 A 845,750 823,650 22,100
= 497,500
= 348,250
01 HXHNMAHEE =X 845,750 823,650 22,100
OJ9sHUESSHEESAA 845,750
= 497,500
& 348,250
BEAMECEHAZANLL I ALY 25,962,000 20,279,000 5,683,000
= 19,971,000
& 5,991,000
403 XX S M S X201 A 25,962,000 20,279,000 5,683,000
= 19,971,000
== 5,991,000
02 B 2SI CHSHAH2 & CH & A B 25,962,000 20,279,000 5,683,000
OF3SMNEFHAZAEE XA 25,962,000
= 19,971,000
= 5,991,000
ASNECEHKIIHAH KRB0 LA SHAE X ALY 8,007,000 4,335,000 3,672,000
=2 4,710,000
o= 3,297,000
403 XtXISHH S K201 8,007,000 4,335,000 3,672,000
= 4,710,000
o= 3,297,000
02 2|/ 2SO CHStAH= & CH & AF H 8,007,000 4,335,000 3,672,000
OSSN EERIIHH NGB0 ItA S A X ALS 8,007,000
= 4,710,000
== 3,297,000
TAXNESHEESSXNELESSH XA 60,000 48,000 12,000
308 AXISHXMSOIHA 60,000 48,000 12,000
P EYEREES 60,000 48,000 12,000
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AR BLETER SN BYFD
H: HIISNMNIE==HAHRS
Gl HoIS22el2LHe Al A X (2 &HH)
- _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Ei HR=2
403 XX SHHS K20 & 651,950 652,600 A 650
= 501,500
& 150,450
01 AIXISHHMA2E X 651,950 652,600 A 650
OMESSUHIOIEA X ALE 651,950
2 501,500
=} 150,450
ESHNWHXNEI2ELEANY 3,250,000 0 3,250,000
2 2,500,000
& 750,000
403 XX SHHS K20 & 3,250,000 0 3,250,000
= 2,500,000
& 750,000
01 XIS A =2E X 3,250,000 0 3,250,000
OXsBHHXEI2EZHAIS 3,250,000
= 2,500,000
o= 750,000
SHEHIIESSEXHEAAEEXAIY 451,000 0 451,000
= 400,000
o= 51,000
403 Tt S H S X201 & 451,000 0 451,000
= 400,000
=} 51,000
1 AXSHHAA2E X 451,000 0 451,000
OsHEHIIS S HelANEEX ALY 451,000
= 400,000
& 51,000
YNNI BAEA 13,456,610 10,644,390 2,812,220
2 9,928,200
o=t 3,528,410
RS XM B0 3 ALY 3,500,200 1,606, 190 1,894,010
= 2,982,500
o=t 517,700
HAINAXNESHE S 290,500 672,750 A 382,250
= 223,500
& 67,000
403 XX SHHS K20 & 290,500 672,750 A 382,250
= 223,500
= 67,000
01 AIXISHHM A2 X 290,500 672,750 A 382,250
OJAINATNEINES 290,500
= 223,500
=} 67,000
HANATSHASH XA 206,700 121,940 84,760
= 159,000
& 47,700




A BPLANAR = =
HE: g DHNBHHTA
R ANSXNZ2ol3HAS (2 &HH)
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Ei HR=2
308 XHXIEHSO|A 206,700 121,940 84,760
= 159,000
& 47,700
01 AIXSHMEMNEX= 206,700 121,940 84,760
OdHAIIATSXHAHASZH A& 206,700
2 159,000
=} 47,700
NEXNH 20 3EXR A | 3,000 3,000 0
202 044 3,000 3,000 0
01 22Ul 3,000 3,000 0
OXSHMZ2HaL IS EHSAIE =& Y| 3,000
MO ASAESYEHAI RS 3,000,000 808,500 2,191,500
= 2,600,000
o= 400,000
403 AIXSHME X201 N 3,000,000 808,500 2,191,500
= 2,600,000
=} 400,000
01 XIS A2E X 3,000,000 808,500 2,191,500
ONJINSAES 2,600,000
= 2,200,000
& 400,000
O&IINSAHEsSEAZR2FIE 400,000
= 400,000
EStHASA 2 8,369,710 7,971,900 397,810
= 5,885,700
& 2,484,010
HoIsdd4axsd9 178,750 136,500 42,250
= 137,500
= 41,250
403 XX SHHS K20 & 178,750 136,500 42,250
= 137,500
& 41,250
01 XIS A=2E X 178,750 136,500 42,250
OIIEd&EH &= 178,750
= 137,500
= 41,250
SRR I ALY 692,400 84,000 608,400
= 557,000
o=t 135,400
403 REXI S M S X0l & 692,400 84,000 608,400
= 557,000
=} 135,400
01 XIS A2E X 692,400 84,000 608,400
OMsAHUEX ALY 380,400
= 317,000




A= SFMENE= = 3
Hu: g DNBHALA
ool gEodsERe (St &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
< 63,400
OS2 MHTMAZRL2 S 312,000
= 240,000
< 72,000
SdOIEXMXE 7,498,560 7,598,400 299,840
= 5,191,200
= 2,307,360
403 Mt S S X201 & 7,498,560 7,598,400 299,840
= 5,191,200
< 2,307,360
01 X S22 2= 7,498,560 7,598,400 299,840
OSdOIE™MARXSHEAES 7,498,560
= 5,191,200
< 2,307,360
JIEHsEANS 1,566,700 1,016,300 550,400
2 1,060,000
< 506,700
JIZ=Hst S A Y 681,200 592,800 88,400
= 524,000
< 157,200
308 MHXIEHMSOIH 681,200 592,800 88,400
= 524,000
= 157,200
01 HIXNHHBHEELS 681,200 592,800 88,400
OEAZENZH 681,200
= 524,000
=) 157,200
JelAEtERsgdstdOeedgsid 273,000 270,000 3,000
= 150,000
< 123,000
201 24l 12,000 12,000 0
2 6,000
< 6,000
01 At 2t 2l 12,000 12,000 0
Oget2H| 12,000
OJAHEAFEEE 12,000
= 6,000
< 6,000
303 L& 3 9,000 0 9,000
= 4,500
< 4,500
01 243 9,000 0 9,000
OJABHESSHIMIEDNSANYS 9,000
= 4,500
< 4,500
307 21201 A 99,000 108,000 A9,000




AR BHINYXER SN I
Hu: g DNBHALA
Sl JSHBEAS (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
= 49,500
< 49,500
02 IZtE M AHEE 99,000 108,000 A 9,000
Odgeldegeddasid 99,000
= 49,500
< 49,500
308 MHXIEHSOIH 153,000 150,000 3,000
= 90,000
< 63,000
01 HXNHHBHELS 153,000 150,000 3,000
OOV AEHEAMEEANSX R 153,000
= 90,000
< 63,000
JISHSIWSHH2YE 88,000 80,000 8,000
= 45,000
S 43,000
307 glz2tol & 50,000 50,000 0
= 25,000
< 25,000
02 P MNAHEE 50,000 50,000 0
IIEHsNSHHR2E(Z) 50,000
= 25,000
= 25,000
308 XXIEHHSOIA 38,000 30,000 8,000
= 20,000
< 18,000
01 X HHILEES 38,000 30,000 8,000
OJIZBHSNEHAHSIG (AZ) 38,000
= 20,000
< 18,000
SEIZANLEEASEHIZ ISR 443,000 0 443,000
= 341,000
< 102,000
403 MHXSHHSA=0l& 443,000 0 443,000
= 341,000
< 102,000
01 X ESHMA=2E L 443,000 0 443,000
OsZIIZANEESAsSEEZZOSENRA 443,000
= 341,000
< 102,000
SMLTFMOLLFA 11,500 73,500 A 62,000
201 24l 8,000 10,000 A2,000
01 At 22l 8,000 10,000 A2,000
Oger==&H| 5,000
OLEEINENEZRA 5,000




AR BLETER SN BYFD
HE: g DHNBHHTA
Sl IS HEE NS CERED
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Ei HR=2
Oeds¢ 3,000
O=METIARE B4 3,000
202 o4 | 3,500 3,500 0
01 2L I 3,500 3,500 0
O=sMHANIH)| =X 0| 3,500
JIEHSHS ALY 70,000 0 70,000
207 S I & 70,000 0 70,000
01 g E A 70,000 0 70,000
M2 IS HSEHS M2 Al S HE 42 70,000
SO o2 H ALY 20,000 50,000 A 30,000
MAHTHPHNSHXNS(Z IR EXH) 20,000 50,000 A 30,000
308 XAXIGHH SO0l & 20,000 50,000 A 30,000
01 AIKISHHENEXZ 20,000 50,000 A 30,000
OAMHIN2HSHXS 20,000
NHASHAEA™ - 22|43 19,098,843 9,189,500 9,909, 343
= 6,309,000
Xl 8,690,000
= 4,099,843
ANAMEEXTHS 15,668,900 6,686,200 8,982,700
= 5,157,000
Xl 8,690,000
= 1,821,900
ZIIME g2 XS 5,167,500 845,000 4,322,500
= 4,875,000
= 292,500
403 XX SRS K 20| & 5,167,500 845,000 4,322,500
= 4,875,000
= 292,500
01 AXESHHE2E X 5,167,500 845,000 4,322,500
O2JIMEI 23X 877,500
= 675,000
= 202,500
Sttt MEI =22 ALY 4,290,000
= 4,200,000
= 90,000
NASABE MO AL 9,974,600 4,801,200 5,173,400
N 8,690,000
= 1,284,600
403 XX SRS K20 & 9,974,600 4,801,200 5,173,400
N 8,690,000
& 1,284,600
01 XIS A=2E X 9,974,600 4,801,200 5,173,400
OSMAND2MENELZ2ZL(KETH]) 260,000
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403 HXSHHSA=0l& 69,256,000 68,258,000 998,000
Xl 61,895,000
< 7,361,000
01 XM A2LE L 69,256,000 68,258,000 998,000
OsHENMEESNLAL(NEZH) 69,256,000
Xl 61,895,000
= 7,361,000




M ox
40 5 4

BAUYTAZ SN 24D
MACAEEE
N NEET

A SA - SAEA) - MRAY - BES 0l &t o il HImEET

AR 2SAIEHEAS 6,253,000 8,453,000 A 2,200,000
X 5,540,000
< 713,000

403 UHXISHHSA=0l& 6,253,000 8,453,000 A 2,200,000
X 5,540,000
< 713,000

01 HXESHMA=LE L 6,253,000 8,453,000 A 2,200,000
OARZSSSAIENBAL (XIS E8I) 6,253,000
Xl 5,540,000
< 713,000

SENRSA =)L A 3,950,000 4,514,000 A 564,000
Xl 3,500,000
< 450,000

403 MtXISHH S0l & 3,950,000 4,514,000 A 564,000
Xl 3,500,000
< 450,000

01 AXSHMA=2E X 3,950,000 4,514,000 A 564,000
OSMXSA =2AMLAS (XIS EH|) 3,950,000
Xl 3,500,000
< 450,000

SENEH=2+2MNdAS 2,575,000 2,924,000 A349,000
J| 2,575,000

403 XIS E X201 & 2,575,000 2,924,000 A349,000
J| 2,575,000

01 X EHHMA=LE XL 2,575,000 2,924,000 349,000
OY=slgdessZdA 2,575,000
J| 2,575,000

DEZLHEIAE LI AL 5,014,000 1,355,000 3,659,000
Xl 4,442,000
S 572,000

403 RXSHSK=0H 5,014,000 1,355,000 3,659,000
Xl 4,442,000
< 572,000

01 HXSHMA2E X 5,014,000 1,355,000 3,659,000
ODXEHHelAEE XA (KIS &H]) 5,014,000
Xl 4,442,000
< 572,000

DEH=HMAAMEEXASE ALY 1,031,000 2,755,000 A 1,724,000
Xl 909,000
= 122,000

403 MtXISHHE X201 E 1,031,000 2,755,000 A 1,724,000
Xl 909,000
< 122,000

01 AXSHMA=2EE 1,031,000 2,755,000 A 1,724,000
ONCSH+HMAANEEXNANEMS(RNSESY) 1,031,000




AR BAMPTAR SN 2MAD
MY NACALEHE
SHelr 2T AIA B CERED
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
Al 909,000
= 122,000
CEAELSTONSLAY 2,500,000 2,123,000 377,000
403 XX SHHS K201 & 2,500,000 2,123,000 377,000
01 XIS RS2 X 2,500,000 2,123,000 377,000
OESHLAMNLEANY 2,500,000
N E - SZHAEY (HM)ALS 1,326,000 900,000 426,000
403 XX SHHS K20 & 1,326,000 900,000 426,000
01 XIS A=Z2E X 1,326,000 900,000 426,000
OXNSASE-S2AEH| (BM)AIS 1,326,000
MR ES2ZRAAESEIAS 200,000 0 200,000
403 XX SRS K20 & 200,000 0 200,000
01 MXHHE2BE =X 200,000 0 200,000
a2 =2 X AIAE A I AS 200,000
ST A2 HRFA 38,300 36, 100 2,200
201 et d| 26,800 24,600 2,200
01 AF2 2t 2| bl 10,000 10,000 0
Ogst=2y| 10,000
OANRESEFULLRA=ZHHS 10,000
02 332%H| 16,800 14,600 2,200
OZ2Z222%2H Al 1,000
Ost=4tot4 S & 3l H] 1,000
A& &Hl s Al 15,800
O&Mx2 X2 EEBAAE ST 22 Y| 15,800
202 044l 11,500 11,500 0
01 2L HI 11,500 11,500 0
O A28 2F=E 0| 11,500
HEESZE2S A2 90,298 0 90,298
= 69,460
< 20,838
403 RXIS M S K20l & 90,298 0 90,298
= 69,460
o= 20,838
01 AIXISHHMA2E X 90,298 0 90,298
OY=ss2s A2 90,298
= 69,460
= 20,838
SHIZALEES 328,934,000 289,332,000 39,602,000
= 317,468,000
& 11,466,000
ot T Al A 22| 321,632,000 273,030,000 48,602,000




SHIMNEHNE= AR ==
BEIIEZANEES
St=Z AlE 2te]

CEA .S (3H) - NEAY - BYS O Ak o8 ﬁlf& HD=2

= 311,319,000
== 10,313,000

olx=XHel &S AY 35,431,000 38,121,000 A 2,690,000
= 31,255,000
= 4,176,000

403 XXM S K201 A 35,431,000 38,121,000 A 2,690,000
= 31,255,000
= 4,176,000

01 MXHNMAHEBE = 35,431,000 38,121,000 A 2,690,000
Odcte=dHel &3 ArY 35,431,000
= 31,255,000
o= 4,176,000

otHMelHE S A (2LX) 7,777,000 13,400,000 N5,623,000
= 6,895,000
& 882,000

403 XX S M S K201 A 7,777,000 13,400,000 N5,623,000
= 6,895,000
& 882,000

01 AIXISHM A 22X 7,777,000 13,400,000 N5,623,000
OotEMelH&SAE (2R 7,777,000
= 6,895,000
< 882,000

ottt M HI At 88,289,000 68,044,000 20,245,000
= 88,289,000

403 XtXISHH S K201 88,289,000 68,044,000 20,245,000
= 88,289,000

01 MAXHNMAHEE = 88,289,000 68,044,000 20,245,000
Dol=22 8 HI ALY 88,289,000
= 88,289,000

o2 AH| ALY (I XH) 3,015,000 5,973,000 A 2,958,000
= 3,015,000

403 XXM S K201 A 3,015,000 5,973,000 A 2,958,000
= 3,015,000

01 XSHNMAHEBEE = 3,015,000 5,973,000 A 2,958,000
ot 2 I ALY (81 X}) 3,015,000
= 3,015,000

otE=22 AHIAFY (= HI) 785,000 730,000 55,000

403 XX S M S K201 A 785,000 730,000 55,000

01 AIXISHM A28 X 785,000 730,000 55,000
Ool=2Z HHI ALY 785,000

HEQot=Hel HE X ALE 10,645,000 4,105,000 6,540,000
= 9,977,000
& 668,000

403 MtXISHH S K201 N 10,645,000 4,105,000 6,540,000




A= BHEAMTRZ M @ SAE W
Hu: BAIEALSE
EH2: Slx=Z A& 22| (&2 &)
AR RA BB OBH) - MBEAY - BAS O Ak o8 ﬁlf& HD=2
= 9,977,000
== 668,000
01 MXHAMAEBE = 10,645,000 4,105,000 6,540,000
OHSAGtH el ZE X ALS 10,645,000
= 9,977,000
= 668,000
SHEOISot= = dHIAFY 57,346,000 33,309,000 24,037,000
= 54,033,000
== 3,313,000
403 XHXI €A S Xk =201 ® 57,346,000 33,309,000 24,037,000
= 54,033,000
& 3,313,000
01 AIXISHHMAE2E X 57,346,000 33,309,000 24,037,000
OsHE0tSole==&H ALY 57,346,000
= 54,033,000
== 3,313,000
olx=Xel&ds A =4E 4,373,000 8,669,000 AN 4,296,000
= 4,373,000
403 XHXIEHHI S Xt =20 ® 4,373,000 8,669,000 4,296,000
2 4,373,000
01 HXHNMAHEE = 4,373,000 8,669,000 AN 4,296,000
Odote=HdHel &8 324 4,373,000
= 4,373,000
Sl E A2 SAE 1,252,000 3,134,000 A 1,882,000
= 1,252,000
403 XX S M S X201 A 1,252,000 3,134,000 A 1,882,000
= 1,252,000
01 AAXHHE2BE = 1,252,000 3,134,000 A 1,882,000
Dol k3234 1,252,000
= 1,252,000
ol HUIBTLAIE 2 U E X2 75,571,000 70,833,000 4,738,000
= 75,571,000
403 XHXI S A S Xt =20 ® 75,571,000 70,833,000 4,738,000
= 75,571,000
01 AIXISHMAE2E X 75,571,000 70,833,000 4,738,000
Ool=2Z2 ZHIBTLAIZE K U E X2 75,571,000
= 75,571,000
olz=Xel=TH0ol Al 14,278,000 10,224,000 4,054,000
= 13,817,000
= 461,000
403 XX S S K201 A 14,278,000 10,224,000 4,054,000
= 13,817,000
& 461,000
01 HXSHNMAHEE = 14,278,000 10,224,000 4,054,000




AR BINYNER SN 24YD
= sSABIZANEESE
& St=EAlE 2t (Sl & &)
224 - BB SAEH) - MPAY - BES 0l &t o il HREZ
Oct=Xel=H0l S At 14,278,000
= 13,817,000
< 461,000
SENE=UHEAY 20,603,000 16,410,000 4,193,000
= 20,603,000
403 A X EHS =0l A 20,603,000 16,410,000 4,193,000
= 20,603,000
01 AXISHH A2 E= 20,603,000 16,410,000 4,193,000
OEAE=UHES A 20,603,000
= 20,603,000
St=S Al 2egR2=a 28,000 78,000 250,000
201 LEt2A | 16,000 16,000 0
01 At 22l bl 10,000 10,000 0
Ogpt=2Hl 5,000
OMNSREEILLRASNES 5,000
O=2g8=¢ 5,000
Ot 22 PRASAYIN LY AI=E 5,000
02 2324l 1,000 1,000 0
O332aYLAA 1,000
Ost=3t & a g3l 1,000
03 & Ar2 I 5,000 5,000 0
Oaot+=EZRAPRATS 5,000
202 o4 dl 12,000 12,000 0
01 = LH 4 Hi 12,000 12,000 0
Dot Al 2elPRFR 0 12,000
CSot=2Z2 U AMIA 2,239,000 0 2,239,000
= 2,239,000
403 A X EHHSXH=0lA 2,239,000 0 2,239,000
= 2,239,000
01 AXISHH A2 L= 2,239,000 0 2,239,000
OL=2ot+=22 U IAXA 2,239,000
= 2,239,000
= = MelAlg e 7,302,000 16,302,000 29,000,000
= 6,149,000
S 1,153,000
Helot=HMelAld & XX & 91,000 115,000 A 24,000
= 91,000
403 A X EHHS =0l A 91,000 115,000 A24,000
= 91,000
01 HXSHHG=EE 91,000 115,000 A 24,000
OoHelst=xelAld & XX & 91,000
= 91,000
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N = 0l & At & Ml A

AZ: BANYTR SN AT D
M MEXE=EA
ol METIRE N (St &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
&b XHR Dt 98,360,690 81,460,826 16,899, 864
= 66,194,783
Xl 5,912,310
< 26,253,597
MERESYE 70,492,993 54,083,201 16,409,792
= 49,619,178
Xl 5,912,310
< 14,961,505
AENEEA 54,278,583 41,998,232 12,280,351
= 42,145,793
< 12,132,790
MHISAE Y 199,576 251,485 251,909
= 153,520
< 46,056
308 XtXIEHH SOl A 199,576 251,485 251,909
= 153,520
< 46,056
01 X HHILEES 199,576 251,485 251,909
Oag3gHa sy 199,576
= 153,520
= 46,056
SMEILENE 179,200 287,280 A 108,080
= 160,000
< 19,200
403 Ut SHHSA=0l& 179,200 287,280 A 108,080
= 160,000
< 19,200
01 HXSHHMA=E X 179,200 287,280 A 108,080
Od2dgAsaeZ SN 179,200
= 160,000
< 19,200
DMt 315,752 63,786 251,966
= 243,325
< 72,427
403 MtXISHHE X201 & 315,752 63,786 251,966
= 243,325
< 72,427
01 X S22 = 315,752 63,786 251,966
PS4t 315,752
= 243,325
< 72,427
N 3,381,770 3,464,419 A 82,649
= 3,035,625
< 346,145
206 = Hl 3,325,501 3,406,084 A 80,583
= 3,007,490




M ox
40 5 4

sHMRTER S AT
METIRS A
MR E A

= - — SHE|
2RI BIEH) - HRAY - BES 0l &F 24 e Hl D= 2t
< 318,011
01 =8l 3,325,501 3,406, A 80,583
OXSMEdE=SH 3,325,501
= 3,007,490
< 318,011
401 AIEBIZ 201 8I 56,269 58, A 2,066
= 28,135
= 28,134
01 A& Bl 56,269 58, 22,066
OZUuRBd=xg 56,269
= 28,135
< 28,134
ZE(XE) 5,964,345 4,498, 1,466,210
= 4,517,918
< 1,446,427
403 X SHHSA=0l& 5,964,345 4,498, 1,466,210
= 4,517,918
< 1,446,427
01 HXSHMA=E X 5,964,345 4,498, 1,466,210
O Mmd 5,964,345
= 4,517,918
< 1,446,427
= I3 0| 44,209,940 33,405, 10,804,813
= 34,035,405
< 10,174,535
403 MtXISH S X201 & 44,209,940 33,405, 10,804,813
= 34,035,405
< 10,174,535
01 X SHHX2E = 44,209,940 33,405, 10,804,813
O=ot30| 44,209,940
= 34,035,405
< 10,174,535
LES & D| & AL 28,000 28, 0
307 21201 A 28,000 28, 0
04 DIZHHALALSE E X 28,000 28, 0
OUSRAIHAXA 28,000
MY AHEH 16,214,410 12,084,969 4,129,441
= 7,473,385
Xl 5,912,310
< 2,828,715
A A ALY =& 484,100 557,500 AT73,400
201 £B-2dH| 109,000 109,000 0
01 At 22l 109,000 109,000 0
Ogpt=2Hl 92,300
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A 400

A 400

70,000
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A 13,000

A 13,000

H3r
Wikd
RIS

37,000
37,000

9,500

9,500

10,000
10,000
12,000
12,000

250,000

250,000

Off &t 24

2,300
5,000
5,000
80,000

10,500
9,000

1,500
2,000
2,000
2,000
2,000
2,200
2,200

37,000
37,000
37,000

9,100
9,100
4,800
4,300

10,000
10,000
10,000
70,000
70,000
70,000
12,000
12,000
12,000

237,000

60,000
6,000
6,000
15,000
150,000

237,000

ulo
ol

H
=
<0

<0
ok
o
o
KJ
KF
wl

n0

<J

ulo
ol
Ok
g
D
H
Ko
Al
KJ
KF
&l

n0

<

ok
0
3+
30
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o}
oM

oF
gl

<J

ok

00
<+
~0
oll

®[

n0

<

Ou=sl

K
a0
0
I
ior
rJ
=l
7

w0
<
<F

oF

01 =LHOI LI

202 Oddl

9

o0
ok
ol
ok
KJ
KE

=

Kl
Kt

[og =]
= T

=
—v—Il_

03 Al

01 M= dl
207 & 51 OH & Hl

206 M= Hl

B0
7o

0

307 21201 A

Ki
I
[

<0
R0
~J

oJ

o]
"0

w0
ar

=
o

ol

ol

1,267,986
7,032

6,363,987
248,134

,168

7,631,973
6,400,805
255,166

1,231

ord

=

=)

308 A+XIEHH




2 sAMERAR SN AR
MRS
9 MBS H (SHol: @)
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
= 196,115
& 59,051
01 AIKISHEMNEXZ 255,166 248,134 7,032
OJHFAAZ0IESN 255,166
= 196,115
= 59,051
403 XX SHHMS K201 A 7,376,807 6,115,853 1,260,954
= 6,204,690
=} 1,172,117
01 XS RS2 X 7,376,807 6,115,853 1,260,954
OFF3AMES0IEsN 7,376,807
= 6,204,690
& 1,172,117
MEASAS 180,000 180,000 0
403 XX SHHS K20 & 180,000 180,000 0
01 XIS A2E X 180,000 180,000 0
CJFTAUHHI X1 D E ALY 180,000
QI AlA 1,859,079 1,810,954 48,125
N 1,712,310
= 146,769
308 XAXISH SO0l & 474,240 477,168 N2,928
Xl 436,800
& 37,440
01 AIXSHHENEXZ 474,240 477,168 AN2,928
Joac2el(XNEXH) 474,240
Xl 436,800
o= 37,440
403 XX SRS K20 & 1,384,839 1,333,786 51,053
N 1,275,510
o 109,329
01 IS RS2 X 1,384,839 1,333,786 51,053
OUE2x(XNESZH) 1,384,839
N 1,275,510
& 109,329
AT AlAE 22 41,184 41,184 0
308 XX G SO0l A 41,184 41,184 0
01 AIXISHHEMNEX= 41,184 41,184 0
OgEs22LIHR S
52,000 443 60 *30/ 100 41,184
MNEAIANREY 4,515,000 2,072,600 2,442,400
Xl 4,200,000
= 315,000
403 XX SHHS K20 & 4,515,000 2,072,600 2,442,400
Xl 4,200,000




A= SINENER SN AR DY
M MEXE=EA
el MEMASY CER-ED
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
< 315,000
01 XM A2E X 4,515,000 2,072,600 2,442,400
OSMHESME L (RSZHI) 4,515,000
Xl 4,200,000
< 315,000
SHHMEHEXR 100,000 0 100,000
403 XIS E X201 & 100,000 0 100,000
01 X SHHN2E = 100,000 0 100,000
Ot EEXA 100,000
ST B Y 10,000 8,000 2,000
= 10,000
308 MtXIEHMSOIH 10,000 8,000 2,000
= 10,000
01 HXNHHBHELS 10,000 8,000 2,000
O2MMS3E2el 10,000
= 10,000
ASEHOIQIAES 1,373,074 913,094 459,980
= 1,062,580
< 310,494
403 X SHHS =0l & 1,373,074 913,094 459,980
= 1,062,580
< 310,494
01 AXSHMA=2E X 1,373,074 913,094 459,980
DA HI0I QA S S 1,373,074
= 1,062,580
< 310,494
Ao DI E &AL 20,000 20,000 0
201 Let2d] 20,000 20,000 0
03 &AL2 Gl 20,000 20,000 0
CIako D1 & &AL 20,000
SMEAEES 27,300,887 26,826, 144 474,743
= 16,541,860
< 10,759,027
AHE THOH X 15,052,236 14,333,232 719,004
= 6,731,537
= 8,320,699
A2 2 XICH 24 255,800 281,375 A 25,575
= 102,320
< 153,480
201 Let24d] 6,800 6,800 0
= 2,720
= 4,080
01 At 22l 6,800 6,800 0




AR BINYNER SH MY
M MENRERES
el A THOH X (cho &)
= - — SHE|
AR 24 ZH-BAEA) - HEAY - B 0l &t o8 il HlnE2
O2g=+¢ 6,800
OUMEEEZZAEI2E=Z LAY 6,800
= 2,720
< 4,080
301 et a3 3,000 3,000 0
= 1,200
< 1,800
1M1IIEELSS 3,000 3,000 0
OdEd2IA2ZR=1Y 3,000
= 1,200
< 1,800
307 21201 A 244,000 271,575 AN2T,575
= 97,600
< 146,400
05 RIZHRI & 3 244,000 271,575 AN 27,575
Datersiolens Y HI} 244,000
= 97,600
< 146,400
405 XHobF S HI 2,000 0 2,000
= 800
< 1,200
01 AL 2 ZFH S| 2,000 0 2,000
OMEIAMNZTAZHAMERY 2,000
= 800
< 1,200
AMELXIHE(XH) 8,807,244 8,437,509 369,735
= 6,073,963
< 2,733,281
308 XXM S0 A 7,744,568 7,346,805 397,763
= 5,341,083
= 2,403,485
01 IXNHHBNEES 7,744,568 7,346,805 397,763
Oa=S X XA 7,744,568
= 5,341,083
< 2,403,485
403 XIS S X201 & 1,062,676 1,090,704 A 28,028
= 732,880
= 329,796
01 X EHHMA=LE L 1,062,676 1,090,704 A 28,028
&= 2 X CH 2 A 1,062,676
= 732,880
< 329,796
AFS X CH 2 (RHA) 5,198,038 4,726,160 471,878
308 XXM S0 A 4,570,238 4,146,560 423,678
01 AXNSGHBLEES 4,570,238 4,146,560 423,678
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A & 0l & AF 2 E A A
AZ: BANYTR SN AYBZARE
HH: MUK RNLRE
ol AEITIRIeT (St &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
MAYEZFAAR 32,122,994 34,300, 126 A2,177,132
=2 13,756,033
Xl 5,039,545
= 13,327,416
MEBRNIAFNLEE 29,430,569 31,832,401 A2,401,832
= 13,659,616
Xl 5,039,545
< 10,731,408
AR R 1,773,298 1,436,906 336,392
= 35,677
< 1,737,621
MY EZEa S22t 313,838 119,772 194,066
101 @124l 64,963 72,272 A7,309
04 J12ZtHZ22 s+ 64,963 72,272 A7,309
OB AN SR Y
48,240 x26 2L x5 H x2H 12,543
O2c| 2 PR 48,2403 262 »4H <10 50,170
CI5HAtE 28 2,250
201 Let24E] 11,000 16,500 A5,500
01 At 22l 8,000 11,500 A 3,500
O=dld32 U TEY S 4,000
O=oi&Ate &2t 4,000
02 =224l 3,000 5,000 A 2,000
A E EHI R XY 3,000
Oz=didZ2tA &7 Xl 3,000
202 O4dl 7,700 5,000 2,700
01 = LH 4 HI 7,700 5,000 2,700
Odd 23 2t2el =0 7,700
204 MR F | 15,000 0 15,000
03 SHZ A 15,000 0 15,000
Ooel e sl 50,0003 x25H «12& 15,000
206 M= Hl 5,000 25,000 220,000
01 M= 4l 5,000 25,000 A20,000
OROl=MEa8Nz+ 5,000
301 et d = 9,175 0 9,175
0B M ERRIABHS 9,175 0 9,175
e+ 134,600& 2% 128 3,231
[IpmE==3. ]| 5,000 «21 »2H «12& 2,520
OsAlHl 6,0003 x21 x2H 128 3,024
Ol 2= 400
307 glz2tol & 1,000 1,000 0
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OdUAaN= 2,994 ,400& x22H x130% 7,786
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- JIEHDHE 20,000& x5H x 128 1,200
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OXrE s =t| 200
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OS5t Atz 2 3,500
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